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Arrow Sudoku
August 20, 2021

Created by David Millar (;)
(dave @ davegoesthedistance.com)

https://thegriddle.net • @ thegriddle

Instructions

In each 9x9 sudoku grid, fill 
each row, column, and 3x3 
box with one of each digit 
from 1 to 9 with no repeats.
 
In this variant, digits in 
cells along arrows must 
sum to the digit placed in 
the attached circle.

If a circle is attached to 
two arrows, each individual 
arrow's digits must sum to 
the digit in the circle.

This puzzle is patron-supported 
content. Visit my campaign at  
https://patreon.com/davmillar 
and pledge for special previews of 
future puzzle content.

Support TG
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